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.     Comparing Two Population Groups    .
How can we answer our question: 
I wonder if the median weight of males tends to be greater than the median weights of the females in the blah population? 
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If we sampled and got these results:   
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What can we conclude?

Review of Level 2

Population A    
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compared to 

Population B
Conclusion?

Form a distribution of the DIFFERENCE between the two means
.     Using resampling    .
As we have a sample (and the population is unknown) we use re-sampling to generate a bootstrap confidence interval for the DIFFERENCE between the sample medians (or means)  

.     Bootstrap     .
 . Confidence Interval    .
The differences between the re-sampled means forms a distribution.

Using this distribution to make a confidence interval for the difference between the population medians

In this example the limits of the confidence interval are -3 and 22.2kg

What does this tell us?

What if the limits were 2.2 and 18.4kg?

Note: you MUST include discussion of the zero to Achieve
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